3154 -~ Dovble \wbegrals \n Polar (oordinates

Rotall! r"=x‘+tj’~ X=Ccos 6 vars‘\né

Qeal: Use polar cosrdingkes to eualuakt Yé\ ’(:(K’fﬂ dA or

ot

W.j\d’\s Yab ore eirewlar

P N

A ) A
These ane ol examples of_polar rectangles.

Ol A ea‘of Nc’fmj\t S o V\caim R of e fmr
R= J(rp): asrsh & o 65/35‘

T*'\’o Gind ﬂ#(x(xj\M of  polnr NC\'M@L(,S R, we wulaw o
/2
Cosrtinale  vanSkomaion -

X—> rcosd \jw"? r aand dA—> @ de 0(5.
Dont fuadl- ml

= S\g-‘?@((\d)o‘k < C g‘b@(rcosﬁf r3ing) *6&(&6\
K A



& SE(%XHL}‘) dA where R U5 e vegio in Jpper
halt plare \pounaled by x’-ﬂjl_—,( ¢ Kl*‘j 1:}*
S‘J‘r‘c (reos6, csinb)cdrdf

C“ gz(?)‘“(os(v & 4( sxnlff)(olralé

= y“ K-zS(zcosC"f 4sinbdrdf
g“ (F cosh * r s 61 )A@ K\ T cos6 + 135w 6 df

d Tf g\nlgvz/ﬂ‘“ cos(z-é“ﬂ

Note® 1L £y = 3()< hul/

i

: g TeosH t 1S ("' 2 ws(l&ﬁo\ff S’”§ O o
: god&&w cd U ?053 cf);cdﬁum
g i b+t g COS(ZQ) AG (bl vi0 &' in \Wgled 9 Y
® Sg(xlo‘b(?h(\ﬁ
< V\G < 9 . S\A 2'6) ‘] Inhre Q* Cmb]x CCIOE(
= St 2,

24 w«wvow&mw undid 2z and e

‘M\mw 2= -¥? \5
o A <0, W\"ﬁ)&(ﬁhm VJ/ ()mo»\oo\o(o\ \S XZ'*jl:O = )CZ.._t9 L-__ ‘.
o S soid W& owr x& ﬂj <\ and chur l~x2 __tj

{‘07& e
6 0310 = cZ

o vok= § [ (1-)e dedtr = ‘“S c-2dedt= {7 ‘Lf‘qr] dé
2 < (0 4de = 4007 T e T 0T e |




Movie Wa\ qud/\SM
Tost W n IS4, e can hawe (‘13{0/\5 &zkm‘«up( \&J
Conbinaaes  Sandids - 6 [g

r= h, (&)

g=o o If D;ZC\(,

o< &
(5,

A<O=
h(&ss

Han

B h%&\
ﬂ\ 'F(X,g\o\ﬂv: f S\ £(r0s &, rsnG) ¢ dcdb

& hh

A W N

EX Find e VO\WNL ot So\io\ lj{v\q \amr\w—M/\ %;x2+32, Abore

|
|
/,l
“”5 =¢r Tre vl of fhis part of
n R> sehidclglinde
* ‘c("“:\\" xg2 2 Flead, (snb)s 5 5 P2 < (U= 20056 & =20
3
011 —»1 v
0= 2 00356
173 g

r %O
"tf‘q o=\ yoes'e db

U] costr
LR YZ fzczcrdrae\ ?



Ex (Cont'd)

‘ A
ke code s sy - [t ces e
\ 0% (s6) (T = ’3; (! ¢ 2cos 20t Cos?&)

) *

S RO L L
% +2C0326+ = + %Cos‘{@

U
§ L\(% & 200526 . 005‘46>096'

-0

«




Anreas

P ————

Because  Volumae = (Anea) O\z&ah}): gghﬁh% dA, e can
g+ Hae A%os ot o (‘03'\“0(\ D bx/ e\n\uaﬁ/\g

S A dA.

0

This i +rve in all coodimle sfens | but in pok,
S odranely el |

_@_\_} Fd  oneel of one \oop of L(—)eaw(mso. V= Cos 26,

Ly cale 2, we dioh Haixe
ﬂ/((
i in | (eszold . =
- Uy
-0 = D
LA \AY 8
U o520 A Fe Cos 2¢
Y [ cdedb ? il 48
'W{q o ..rlu
ﬂ/q
2 Y 1 05726 dé



